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1,350, 0002 x20% *50/ 100 13,500
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O Olag=20l Me(RIS5)MAET A
ot 35,0002 *40% *13] 1,400
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O 2= SS0IEAEXA 63,000
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Al 36,000
O =H&2 AU XA 54,564
2 27,282
Al 27,282
At =4 () 106,300 100,630
206 W2l 100,000 100,000
01 M=l 100,000 100,000
O == 23 100,000
301 YurBa3 6,300 630
10 dAIAHIEAZ 6,300 630
Orlsd=sgeHNAS 35,000& *90H 3,150
OsgilAeEs &4 35,000& 90X 3,150
L2ESIHAXNSAS (BEX) 83,976 31,446
& 27,992
Al 55,984
402 BIZ2HX =0l 83,976 31,446
= 27,992
Al 55,984
01 BIZEXI=22 X 83,976 31,446
O E48sIHE2XNA(EX) 83,976
= 27,992
Al 55,984
SAYEsI AKX AL (XHAI) 129,036 AT0,214
402 SIZ2HX =0l 129,036 AT70,214
01 QIZEXI=22 X 129,036 AT70,214
OFL2EsIIAHAX AL (KA 129,036
DEZ A MA QD HAMA H D AL(EX) 868,000 A 339,000
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307 2IZ2t0lA 82,000 82,000
& 38,000
Al 44,000
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& 393,000
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O & M MIOAMG(LZHE) 786,000
& 393,000
Al 393,000
K= E3HALS 600,000 1,248,400 A648,400
s 400,000
Al 200,000
402 QIZEXE01H 600,000 1,248,400 A 648,400
s 400,000
Al 200,000
01 QIZIRI=2E2 X 600,000 1,248,400 A648,400
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s 400,000
Al 200,000
ELMHEX 1,514,220 759,651 754,569
= 1,286,776
= 113,722
Al 113,722
402 BIZ2HX =0l 1,514,220 759,651 754,569
= 1,286,776
& 113,722
Al 113,722
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402 QIZtXIE0| A 186,000 315,000 A 129,000
01 QI2X=2EX 186,000 315,000 A 129,000
O SOUUHAALY &x X AL
40,000, 000& *1ha*50% 20,000
OFIsAEEHR =EAIH 166,000
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SA-EH O (BH) - HBAY - B2 Ofl A o4 ggi HRS2
O A0S =SS 2 AL 8,066
= 3,228
= 2,419
Al 2,419
2 st R X AS 2,100 3,150 A 1,050
301 LE8BAMZ 2,100 3,150 A 1,050
10 SEAIAHIEAZ 2,100 3,150 A 1,050
O JWsIHEE R As 35,000& x60H 2,100
Egl&s 84 (EX) 1,379,880 0 1,379,880
g 985,000
= 440
Al 394,440
402 QIZHXFE0| A 1,379,880 0 1,379,880
rag 985,000
= 440
Al 394,440
01 QI2tX=2EX 1,379,880 0 1,379,880
O=&E MolE2E I K& 880
o= 440
Al 440
OYS LSSMAMET] ZHAY
7,000,000 x140=+70/100 686,000
g 490,000
Al 196,000
OLEIINHY XN LA (ASSHL 0| S0t
ALBE) 693,000
iy 495,000
Al 198,000
AME2W0HXEZ 77,978 0 77,978
= 38,989
= 12,996
Al 25,993
402 QI2HX =0l 77,978 0 77,978
= 38,989
== 12,996
Al 25,993
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Q2SR 77,978
O AMEZAUXIOIE &3t XA 77,978
= 38,989
= 12,996
Al 25,993
SN FWY A5 Y IIFYAAS 4,723,965
= 2,078,156
< 972,515
Al 1,673,294
SAEH 4,723,965
= 2,078,156
= 972,515
Al 1,673,294
St Yot E X 65,420
= 27,350
Al 38,070
402 QI2FXHE0| ™ 65,420
& 27,350
Al 38,070
AATN2EL 48,280
O DEE YXDI| MAAY 7,500
== 3.000
Al 4,500
O NEZ A=S2NE FESAYE XSAAM 8,500
& 3,400
Al 5,100
O RASTXS 2L ALY 3,480
& 1,160
Al 2,320
OUYESII DEHAANS 28,800
= 14,400
Al 14,400
QI 2HCH AL HI 17,140
O SOX A AFOFH AL 9,700
T 2,910
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O SRINIEE 7,440
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402 QIZ2HAHE0| X 62,600 68,000 25,400
01 QIZEXRIE2E=x 52,600 56,000 A3,400
O YR(#ER2)J172 A=EM
40,000& x1,000= 50/ 100 20,000
O SASEXTEER AFY
1,400,000 *10& %50/ 100 7,000
O L= MY XA
800, 000& *5CH*50/100 2,000
O 22T XM (AZTZXH)
1,500& *4,00021*50/100 3,000
O B2IIKOIEXII K& A
400,000 *10&%50/100 2,000
O SUAORUHEESEA BESAY
15,000, 000& 2% x30/100 9,000
O SESIH LEWUNAIS
400,000 *805*30/100 9,600
02 QI2HCHEH A HI 10,000 12,000 A2,000
O =3T3z X 10,000
TAZ(HEe)MAD|etal s 633,464 329,900 303,564
= 221,189
Al 412,275
402 QIZ2HXE20| & 633,464 329,900 303,564
= 221,189
Al 412,275
01 QIZtXIE8Ex 182,000 90,900 91,100
O HECHE=0 &l XA 42,000
== 15,750
Al 26,250
O HEc|da Hed3 140,000
[ 70,000
Al 70,000
02 OIZ2ICHEAFRHI 451,464 239,000 212,464
O &#E2el dZH &l K& 120,000
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SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
== 36,000
Al 84,000
O &#E22 M=x 28tt| 331,464
T 99,439
Al 232,025
AS A BHEHS 164,750 179,500 A 14,750
402 QIZtXIE0| A 164,750 179,500 N 14,750
01 QI2X=2EX 143,750 167,500 N 23,750
O ZAR & - 3R
1,500,000& *501 *50/100 3,750
O HEeRYH(EE3) 200, 000& *700ha 140,000
02 QIZHHE AR b 21,000 12,000 9,000
O ZAIE A2l X €S H XIS
70,000 *600 X x50/ 100 21,000
SgAAA 327,449 282,909 44,540
= 170,405
== 67,444
Al 89,600
201 «BtEAd| 7,500 17,600 A 10,100
== 3,000
Al 4,500
01 ArR2t2|bl 7,500 17,600 A 10,100
O J=FgY 2F yeiy| 7,500
o= 3,000
Al 4,500
206 M= 203,025 181,086 21,939
= 135,013
== 31,420
Al 36,592
01 MZ=Hl 203,025 181,086 21,939
O =A% E 183, 102
=2 127,651
= 27,132
Al 28,319
O MY - Yxgy gdHsE 5,200
< 2,080
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Al 3,120
O Ss2HMY M=t 14,723
= 7,362
= 2,208
Al 5,153

301 utEa=s 81,424 60,023 21,401
= 28,992
= 18,474
Al 33,958

12 JIEt2 &3 81,424 51,677 29,747
O TEYHE 294 46,224
2 23,112
= 6,934
Al 16,178
O 4 242 HE 19,600
2 5,830
= 6,860
Al 6,860
O =49 &g 15,600
= 4,680
Al 10,920

307 QIZt0IA 14,400 13,000 1,400
& 7,200
A 7,200

05 CIZtREZ 14,400 13,000 1,400
O RIls= EsAY 14,400
< 7,200
Al 7,200

402 2IbXE01M 21,100 11,200 9,900
2 6,400
= 7,350
Al 7,350

01 Q2tR=Ex 9,900 0 9,900
O ZBASSIH ASAA NHAY 9,900
= 4,950
Al 4,950
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= 6,400
= 2,400
Al 2,400
SERRS 2 HES 2,934,800 318,400 2,616,400
2 1,643,000
= 599,800
Al 692,000
206 MHZH 36,400 4,800 31,600
== 11,400
Al 25,000
TEE] 36,400 4,800 31,600
O &dH0IE HEAHAS 9,600
== 3,360
Al 6,240
O SMELAFHLMAY 26,800
== 8,040
Al 18,760
402 RIZEXE0IF 2,898,400 313,600 2,584,800
2 1,643,000
== 588,400
Al 667,000
01 QIAREEZR 2,898,400 313,600 2,584,800
O SM2aHel HEAL 20,000
2 12,000
== 4,000
Al 4,000
O &L HHIHEE ALY 136,000
2 51,000
== 34,000
Al 51,000
O 94| a=dl X& 136,000
2 68,000
== 27,200
Al 40,800
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& 56,732
Al 56,732
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= 264,751
& 56,732
Al 56,732
02 QI2HCHeH 378,215 278,100 100,115
O sueR 378,215
= 264,751
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Al 56,732
=EdEE o 18,167 41,167 A 23,000
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O =ikl ANHUE &
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01 QtR=Ex 137,000 136,200 800
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